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ASSIGNMENT

. What is the total number of moles of oxygen ztoms in

1 mole of ozone? (Molecular mass = 48)
@M1 33
@ 2 @ 4

What is the total number of oxygen atoms in the
formula MgSO, * 7 H,0? [The * represents seven
units of H,O attached to one unit of MgSO, .]

M 11 @ s
@7 “ 4

Which quantity is equivalent to 39 grams of LiF?
(1) 1.0 mole (3) 0.50 mole
(2) 2.0 moles (4) 1.5 moles

What is the gram-molecular mass of a compound if 5
moles of the compound has a mass of 100 grams?
M s5g (3) 100 g

2 20¢g (4) 500 g

A compound consists of 40.% sulfur and 60.%
oxygen by mass. What is the empirical formula of this
compound?

(1) SO
(2) 80,

(3) 8O,
(4) SO,

A compound contains 40% calcium, 12% carbon, and
48% oxygen by mass. What is the empirical formula
of this compound?
(1) CaCO,

(2) CaC,0,

(3) CaC,0,
4) CaCo,

What is the empirical formula of a compound if a
sample contains 8.52 grams of carbon and 1.42 grams
of hydrogen?
(1) GH
(2) CH,

(3) CH
4 GH,

Given the reaction:

2Na + 2H,0 — 2NaOH + H,
What is the total number of moles of hydrogen
produced when 4 moles of sodium react completely?
M1 33
22 # 4
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Given the reaction:
2Al + 3H,80, — 3H, + AL(SO,);
The total number of moles of H,SO, needed to react
completely with 5.0 moles of Al is
(1) 2.5 moles (3) 7.5 moles

(2) 5.0 moles (4) 9.0 moles

Given the unbalanced equation:

_Ny(@) + __Hy(g) >_NHy(g)
When the equation is balanced using smallest
whole-number coefficients, the ratio of moles of
hydrogen consumed to moles of ammonia produced is

(1) 1:3 3) 2:3
2) 3:1 %) 32
Given the reaction:

4NH, + 50, — 4NO + 6H,0
What is the maximum number of moles of H,O that
can be produced when 2.0 moles of NH; are
completely reacted?

M 1.0 3) 3.0
2) 2.0 “) 6.0
Given the reaction:

3Cu + 8HNO; — 3Cu(NO;), + 2NO + 4H,O
The total number of grams of Cu needed to produce
1.0 mole of Cu(NO,), is

Q) 32 @3) 128
(2) 64 4) 192
Given the reaction:

2C,H,(g) + 50, (g) — 4CO,(g) + 2H,0(g)
What is the total number of grams of O,(g) needed to
react completely with 0.50 mole of C,H,(g)?

1) 10. g (3) 80. g
(2) 40. ¢ 4) 160 g
Given the reaction:

Cu + 4HNO, —s Cu(NO;), + 2H,0 +2NO,
What is the total mass of H,O produced when 32
grams of Cu is completely consumed?

1) 90¢ (3) 36g
) 18¢g @ 72¢g
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